1 —sinx

3. - dr
cos"T
_sinx 1
_f dz | seca=—
cos’r cos‘x COSQ
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K
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16. > > dx
Sin xr.cos"x
.3 3
sIn°x coS"x
= f dx f dx
. 9 2 . 3 2
SIN°xr.cos"x Sin"x.cos x
SINT COST
= f dx f dx cO- uk
cos’z sin® a:N e
A
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3 3
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dx
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18. f dx
sin’x
_3fcosx d+4 dx
sin’x sin’z
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secx+tgx

_ [ secx (sec:z:—tg:r)dm
- sec:s+tgﬂ:'(.sec:r:—tga:)

— t
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dx
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38. f cos’zdzx

where: cos3a=4cos”

a—3cosa

4dcos a=cos3a +3cosa

- 1
cosdaé—-j(0033a+3cosa)

g f cos rdx
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a1, f SIN2T—COSI

dx

sin‘r— sinr+3
SINIT.COST—COST
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dx

sin’r— sinr+3

(2sinx—cosx)

=/

; .cosxdx
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